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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(iv) Serpeictl & JFIT 1 IFAIT 77 8 |/

General Instructions :
(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(iit) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

@ ue A
SECTION A

J9T GEIT1 T4 7% J9F Jo7 1 3FH FT 38 /

Question numbers 1 to 4 carry 1 mark each.

1. 900 &€l % TH oL H ¥ Ageodl TH Hd A4 W ¥eT 830 4« oo 6
TIRERAT 0-18 7 | & § U BT Tl ol T T & ?
The probability of selecting a rotten apple randomly from a heap of
900 apples is 0-18. What is the number of rotten apples in the heap ?
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Ffg 30 . S T AR, YW W 10+/3 . Tt TR S 7, O G B I
HI0 RT3 ?

If a tower 30 m high, casts a shadow 10+/3 m long on the ground, then

what is the angle of elevation of the sun ?

afe s foig P& a e @ O g et 99 @R T Q) wi et %
&= 1 I 60° &, dI OP hi &eTs F1d shifST |

If the angle between two tangents drawn from an external point P to a

circle of radius a and centre O, is 60°, then find the length of OP.

T GHIa A, e ay, —a, =84 2, 1 W AT AT E ?

What is the common difference of an A.P. in which a9 —ay = 84 ?

Qs d
SECTION B

Y &I 5 G 10 TF JoI% Jo7 F 2 3% & |

Question numbers 5 to 10 carry 2 marks each.

30/3

s g TRt wgdst ABCD <t @ft =il et ot vt et 7 | fag hifsre fp
AB +CD = BC + DA

A circle touches all the four sides of a quadrilateral ABCD. Prove that
AB + CD =BC + DA

fag Hife for gu i fFeht Sfar & o7a fogett w dfi=h & wofX@rd Sfar &
1Y GHM 107 ST B |

Prove that the tangents drawn at the end points of a chord of a circle
make equal angles with the chord.
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T W@ y-31& AT x-37& Bl HAM: f0g3q P a0 Q W uid=sg Hdl & | A
(2, - 5), PQ %1 wea-fag &1, 41 Paun Q % Faees 3ma Hify |

A line intersects the y-axis and x-axis at the points P and Q respectively.
If (2, — 5) is the mid-point of PQ, then find the coordinates of P and Q.

Ife P(x, y) &I A5, 1) @ B(- 1, 5) & il &am &, a@ fag ifse fh
3x = 2y.

If the distances of P(x, y) from A(5, 1) and B(- 1, 5) are equal, then prove
that 3x = 2y.

p 1 98 WH F1a shifore fraes e fgama wefiertor px? - 14x + 8 = 0 &1 T qd
TR H 6T R |

Find the value of p, for which one root of the quadratic equation
px2— 14x + 8 = 0 is 6 times the other.

n < fohH WM % foTu, @ 99T A 63, 65, 67, ... AT 3, 10, 17, ... % nd UG
U B ?

For what value of n, are the nt! terms of two A.Ps 63, 65, 67,... and
3, 10, 17,... equal ?

@ us |
SECTION C

97 G&IT 11 T 20 TF A% J97 & 3 3% & /|
Question numbers 11 to 20 carry 3 marks each.

11.

30/3

T HAR 6 91¢ ¥ [o aret el {@1 W 91g § HwAw: 4 | qur 16 W H
g ma g capfmi | At ca D& HAR & R & 39a &m
TH-gE & T &, dl FHR H HaT8 71 HIT |

On a straight line passing through the foot of a tower, two points C and D
are at distances of 4 m and 16 m from the foot respectively. If the angles

of elevation from C and D of the top of the tower are complementary, then
find the height of the tower.
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12. UHh IA H 15 Ahg U1 $& Hleht ¢ & | I I § | Th el g Feprem it
g e i S TR R e b e
&A1 {14 HIT |
A bag contains 15 white and some black balls. If the probability of

drawing a black ball from the bag is thrice that of drawing a white ball,
find the number of black balls in the bag.

13. @ T3 I H, TIH 3 Wl W & A T, 4-5 FHI ATE T Th A adl
4-5 Gl Brsan o1 U ST SHIC T F | BRMRd W 1 &% [1d hiTSg |

<—3@1ﬂW3@tﬁ—>

Three semicircles each of diameter 3 ecm, a circle of diameter 4-5 cm and a
semicircle of radius 4'5 cm are drawn in the given figure. Find the area of
the shaded region.

<— 3 cm 3 cm 3cm —

14. fog (% y), fagati P2, —2) @91 Q(3, 7) ®I AW It t@Es HI Ty

T § fawaa #tar 8 2 y &1 7 ot 9 i |

In what ratio does the point (%, yj divide the line segment joining the

points P(2, — 2) and Q(3, 7) ? Also find the value of y.
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15. 547, = 3R 1.8 ). Teh vk qE H u o5 v A fa A s @ R |
39 40 e o fhad gwa i = & gdl 8, afe fgems & fou 10 o+
T8 gt hl STEwIehdl 8 ?

Water in a canal, 54 m wide and 1:8 m deep, is flowing with a speed of
25 km/hour. How much area can it irrigate in 40 minutes, if 10 cm of

standing water is required for irrigation ?

16. & TS Hfd H, O g 1A o1 Tehg gl <l Brsamd 21 Tt qem 42 A F
afe £ AOB = 60° 8, a1 SHIfhd T T &%l ATA HITT |

[n=27_2mﬁmﬁﬁm]

N\
/

AT TN

In the given figure, two concentric circles with centre O have radii 21 cm
and 42 cm. If £ AOB = 60°, find the area of the shaded region.
22

[Usen=7]

///T RN
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17. T 319 dig & o9 <l famrd 4.4 . x 2.6 #. x 1:0 1. & | 30 fU=ame
30 9t it Bream R 5 ) AIerE + U Wradr daHehRR U189 SR TR0
2 | qreq I d«E F1d i |

The dimensions of a solid iron cuboid are 44 m x 2:6 m x 1-0 m. It is
melted and recast into a hollow cylindrical pipe of 30 cm inner radius and
thickness 5 cm. Find the length of the pipe.

18. U factn 3-5 Tt Frs o 3% & TSR 1 8 I ThHHM B3 o Al W
$Heh IR etk W UG 8 | faeiq il a1 918 15-5 8t 2 | fladi &
T gsSHT &t AT ST |
A toy is in the form of a cone of radius 3-5 cm mounted on a hemisphere

of same radius on its circular face. The total height of the toy is 15-5 cm.
Find the total surface area of the toy.

19. U GHIR I 9, 17, 25, ... % fohdd U@l &l @4 T INTHA 636 BN 2

How many terms of an A.P. 9, 17, 25, ... must be taken to give a sum of
636 ?

20. IfC TR (a + b%) x% - 2 (ac + bd) x + (¢Z + d?) = 0 & UA 99N &,

firg i s 2 = .

If the roots of the equation (a2 +b?%) x%2 -2 (ac + bd) x + (¢ + d%) = 0 are

a_ ¢
equal, prove that — = —.
q p - @

QU g
SECTION D

J97 G&IT 21 G 31 TF G9F Jo7 F 4 3F & |

Question numbers 21 to 31 carry 4 marks each.

21. 3R f9g Ak + 1, 2k), B(3k, 2k + 3) @ C(5k - 1, 5k) T@ &I, A k H1 7H
F1a i |

If the points A(k + 1, 2k), B(3k, 2k + 3) and C(5k — 1, 5k) are collinear,
then find the value of k.
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% BIS ABC 1 T hifse fSew e BC = 79, £ B = 45°, £ A = 105°
B | T8 T 3 IS <t T hifoe et Yo A ABC 31 @ra st 6

3 A
S T

4

Construct a triangle ABC with side BC = 7 ecm, £ B = 45°, £ A = 105°.
Then construct another triangle whose sides are % times the

corresponding sides of the A ABC.

a1 fafem i 1 T w1 ekt TAT | WTRRAT TG hITTC fob STed STl
(i)  FFTEA HH AT, IR

(i)  TUHS TH BN |

Two different dice are thrown together. Find the probability that the
numbers obtained have

(1) even sum, and

(i1)  even product.

& g Sefa #, XY 991 X'Y', O g 91t 99 hl o THIR TR-@Md § 99 Th
3= TRi@ AB, e Tl fag € 8, XY &1 A @1 X'Y' %1 B W wfiesg
Fdt & | fag Sifse 6 £ AOB = 90°.

5 P - ]
0
c
Cox Q B v
8
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In the given figure, XY and X'Y’ are two parallel tangents to a circle with

centre O and another tangent AB with point of contact C, is intersecting

XY at A and X'Y’ at B. Prove that ~ AOB = 90°.

N

v

N\

25. Tordlt aul-STad TURY 9 H, 22 Y. x 20 M. & Tq T TN TR 2 Hl. IMUR
o SATE qAT 3-5 Hl. Ha18 o Teh SR b § ATdT 8 | Ife doh W T=T &, ol
Hrd I fop &t 1 foreT ol &3 | STt wweror W 3 fae=m seh hifg |

In a rain-water harvesting system, the rain-water from a roof of
22 m x 20 m drains into a cylindrical tank having diameter of base 2 m
and height 3-5 m. If the tank is full, find the rainfall in cm. Write your

views on water conservation.

26. firg Hifre o g & foreft amar foig & qm w @i=h 7€ o1 Toel et i weTEEr
U B 2 |
Prove that the lengths of two tangents drawn from an external point to a
circle are equal.
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Ife gt TmiaR Afgl & YW n UG % ANTHSAT 1 I (7Tn + 1) : (4n + 27) B,
@ 39 99 USH T I I HIFT |

If the ratio of the sum of the first n terms of two A.Psis (7n + 1) : (4n + 27),

then find the ratio of their 9t terms.

x % faT g« ifvT

x—-1 N 2x +1
2x +1 x-1

=2,513-T X¢—%,1

Solve for x :

x-1 N 2x +1
2x +1 x-1

= 2, where x¢—%,1

ATH FH H HH H BH 61T %A o 8 | A A 3R B gH1 T @19 M Hd
BU3H 4167 o 9 @hd 8, 91 B 39 1 &l 9T i H fohe T o 2

A takes 6 days less than B to do a work. If both A and B working together
can do it in 4 days, how many days will B take to finish it ?

100 H. 3=t v Har i = A, Th et AR H fauda fegmen d qen
YR T Tk & W@ U, 3 Rl o GT0T v 30° F 45° @Al & | B & o=

! glt Sra IS | [V3 = 1-732 7T |

From the top of a tower, 100 m high, a man observes two cars on the
opposite sides of the tower and in same straight line with its base, with

angles of depression 30° and 45°. Find the distance between the cars.
[Take V3 =1-732]

10
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31. & T PHfa H, O g9 H hg & 99 AC = 24 A, AB = 7 ¥h 7
Z BOD = 90° 2 | SHIfehd HFT 1 &% A SHIMT |

In the given figure, O is the centre of the circle with AC = 24 cm,
AB =7cm and £ BOD = 90°. Find the area of the shaded region.
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